
No modèle: THZ674
Meuleuse à angle pneumatique 5"

No 
pièce

No 
modèle

Description Qté

01 TJZ541 LOGEMENT 1
02 TJZ542 CAOUTCHOUC 1
03 TJZ543 ENTRÉE D'AIR 1
04 TJZ544 VIS 1
05 TJZ545 RONDELLE EN O 1
06 TJZ546 RESSORT 1
07 TJZ547 BAGUE DE LA TIGE DE SOUPAPE 1
08 TJZ548 TIGE DE LA SOUPAPE 1
09 TJZ549 LEVIER 1
10 TJZ550 GOUPILLE 1
11 TJZ551 ROULEMENT (608ZZ) 4
12 TJZ552 PLAQUE ARRIÈRE 1
13 TJZ553 GOUPILLE (BILLE EN ACIER) 1
14 TJZ554 CYLINDRE 1
15 TJZ555 ROTOR 1
16 TJZ556 LAME DE ROTOR 4
17 TJZ557 ESPACEUR DE ROULEMENT 1
18 TJZ558 PLAQUE FRONTALE 1
19 TJZ559 ENGRENAGE CONIQUE 1
20 TJZ560 RONDELLE 1
21 TJZ561 LOGEMENT EN ANGLE 1

No
pièce

No 
modèle

Description Qté

22 TJZ562 RONDELLE EN O 1
23 TJZ563 MANCHON D'ÉVACUATION 1
24 TJZ564 VIS 1
25 TJZ565 VIS 1
26 TJZ566 VIS (M5*45L) 2
27 TJZ567 VIS (M5*55L) 2
28 TJZ568 ESPACEUR 1
29 TJZ569 ANNEAU DE RETENUE 1
30 TJZ570 ENFRENAGE CONIQUE 1
31 TJZ571 ROULEMENT (6202ZZ) 1
32 TJZ572 CLÉ 1
33 TLY762 TIGE 1
34 TJZ573 PLAQUE DE RECOUVREMENT 1
35 TJZ574 COUVERCLE DU DISQUE (5") 1
36 TJZ575 VIS 4
37 TJZ576 BOULON DU DISQUE (5") 2
38 TJZ577 POIGNÉE 1
39 TJZ579 CLÉ DE SERRAGE (14MM) 1
40 TJZ580 CLÉ DU DISQUE (5*) 1
41 TJZ726 ÉPAULEMENT 1
42 TJZ582 RONDELLE EN O 1


